PSE 476
Homework #9
Due 2/7/05

	1. Is the following lignin compound split into two monomers through the action of NaOH at elevated temperature? (1 point)

a) Yes

b) No
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	2. Is the following lignin compound split into two monomers through the action of NaOH at elevated temperature? (1 point)

a) Yes

b) No
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	3. Is the following lignin compound split into two monomers through the action of NaOH at elevated temperature? (1 point)

a) Yes

b) No
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	4. Is the following lignin compound split into two monomers through the action of HS-at elevated temperature? (1 point)

a) Yes

b) No
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	5. Is the following lignin compound split into two monomers through the action of HS- at elevated temperature? (1 point)

a) Yes

b) No
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	6. Is the following lignin compound split into two monomers through the action of HS- at elevated temperature? (1 point)

a) Yes

b) No
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	7. Is the following lignin compound split into two monomers through the action of HS- at elevated temperature? (1 point)

a) Yes

b) No
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	8. Is the following lignin compound split into two monomers through the action of HS- at elevated temperature? (1 point)

a) Yes

b) No
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	9. Is the linkage between the phenolic ring and the sugar cleaved during kraft pulping? (1 point)
a) Yes it is cleaved

b) No it is not cleaved
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	10. Is the linkage between the phenolic ring and the sugar cleaved during kraft pulping? (1 point)
a) Yes it is cleaved

b) No it is not cleaved
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	11. Is the linkage between the phenolic ring and the sugar cleaved during kraft pulping? (1 point)
a) Yes it is cleaved

b) No it is not cleaved
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	12. Please show me all the possible reaction mechanisms of the following dimers under kraft pulping conditions.  (Remember there may not always be a HS- ion around)  Questions 12&13 are large drawing questions that are to be turned in to me directly by 4:00 pm Monday (2/7/05) while the other questions are to be turned in electronically.  (9 points).
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	13. Please show the mechanism and the product(s) of the alkaline condensation of the following chemicals. (turned in to Prof. Lignin for 3 points)
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